HENSS | A

/16

B OROELERCHITEZ KIIHLTERELILLY,

O 16x25 = @  25%X36 =
@) 101 X74 = 101X32 =
@ 42+64+58 = @ 14+72+428 =
@ 74+67+26 = @ 84x25 =
®  25%X48 = @ 61+45+55 =
® 12x97 = @ 28x25 =
@  44x98 = ®» 23x99 =
39+25+75 = 103X23 =




STHENLS

B OROELERCHITEZ KIIHLTERELILLY,

® | 6X25 = 400

(4X4)X25 = (4X25)Xx4 = | 00X4

@ 10Ix74 = | 7474

(100+ 1)XT74 = 100X T4+ | XT4 = T4O0+T4

® 42+64+58 = | 64

(42+58)+64 = 100+64

@ T74+67+26 = 1 67

(74+26)+67 = 100+67

® 25X48 = 1200

25X (4% 12) = (25X4)X12 = 100X | 2

® | 2X97 =

12X(100—3) = 100X 12—3X12 = 1200—36

| 164

@ 44X98 = 4312

44X(100—2) = 100X44—-2X44 = 4400—88

39+25+75 = | 39

39+(25+75) = 39+100

@ 25%X36 =

/16

g00

25X (4%9) = (25%4)X9 = 100X9

101 X32 =

3232

(100+1)x32 = 100X32+1x32 = 3200+32

@ 14+72+28 =

I 14

| 4+(72+28) = 1 4+100

@ 84x25 =

2100

(4X21)X25 = (4X25)x2| = 100X2|

@ 6I1+45+55 =

161

6 1+(45+55) = 6 1+100

@ 28%X25 =

700

(4X7)X25 = (4X25)X7 = |00X7

® 23X99 =

227

23X(100—1) = 100X23—1X%X23 = 2300—-23

103%23 =

2369

(100+3)X23 = 100X23+3Xx23 = 2300+69




